

Bol. Soc. Paran. Mat. ©SPM -ISSN-2175-1188 ON LINE SPM: www.spm.uem.br/bspm (3s.) v. 33 1 (2015): 49–57. ISSN-00378712 IN PRESS doi:10.5269/bspm.v33i1.19884

A unifying approach to the difference operators and their applications

P. Baliarsingh and S. Dutta

ABSTRACT: In the present paper, we introduce the idea of difference operators Δ^{α} and $\Delta^{(\alpha)}(\alpha \in \mathbb{R})$ and establish certain results which have several applications in Functional as well as Numerical analysis. Indeed, the operator Δ^{α} generalizes several difference operators defined by Kızmaz [1], Et [2], Et and Çolak [3], Malkowsky and Parashar [4], Et [5], Malkowsky et al. [6], Baliarsingh [7] and many others.

Key Words: Difference operators Δ^{α} and $\Delta^{(\alpha)}$; Product of two sequence spaces.

Contents

1	Introduction and definitions	49
2	Main results	52
3	Application to the numerical analysis	54

1. Introduction and definitions

By $\Gamma(p)$, we denote the Gamma function of a real number p and $p \notin \{0, -1, -2, -3, \ldots\}$. By the definition, it can be expressed as an improper integral i.e.

$$\Gamma(p) = \int_0^\infty e^{-t} t^{p-1} dt. \tag{1.1}$$

From the equation (1.1), we observe that

- (i) For any natural number p, $\Gamma(p+1) = p!$.
- (ii) For any real number p and $p \notin \{0, -1, -2, -3...\}$, $\Gamma(p+1) = p\Gamma(p)$.
- (iii) For particular cases, we have $\Gamma(1) = \Gamma(2) = 1$, $\Gamma(3) = 2!$, $\Gamma(4) = 3!$

2000 Mathematics Subject Classification: 46A45, 46A35, 46B45.

Let w be the space all real valued sequences. For a real number α and $x \in w$, we define difference operators Δ^{α} , $\Delta^{(\alpha)}$, $\Delta^{-\alpha}$ and $\Delta^{(-\alpha)}$ as follows:

$$(\Delta^{\alpha} x)_k = \sum_{i=0}^{\infty} (-1)^i \frac{\Gamma(\alpha+1)}{i! \Gamma(\alpha-i+1)} x_{k+i}, \tag{1.2}$$

$$(\Delta^{(\alpha)}x)_k = \sum_{i=0}^{\infty} (-1)^i \frac{\Gamma(\alpha+1)}{i!\Gamma(\alpha-i+1)} x_{k-i}, \tag{1.3}$$

$$(\Delta^{-\alpha}x)_k = \sum_{i=0}^{\infty} (-1)^i \frac{\Gamma(1-\alpha)}{i!\Gamma(1-\alpha-i)} x_{k+i}, \tag{1.4}$$

$$(\Delta^{(-\alpha)}x)_k = \sum_{i=0}^{\infty} (-1)^i \frac{\Gamma(1-\alpha)}{i!\Gamma(1-\alpha-i)} x_{k-i}.$$
 (1.5)

We assume throughout that the summation defined in (1.2-1.5) are convergent for $x \in w$. In particular, for $\alpha = \frac{1}{2}$, we obtain that

•
$$\Delta^{1/2}x_k = x_k - \frac{1}{2}x_{k+1} - \frac{1}{8}x_{k+2} - \frac{1}{16}x_{k+3} - \frac{5}{128}x_{k+4} - \frac{7}{256}x_{k+5} - \frac{21}{1024}x_{k+6} + \cdots$$

•
$$\Delta^{(1/2)}x_k = x_k - \frac{1}{2}x_{k-1} - \frac{1}{8}x_{k-2} - \frac{1}{16}x_{k-3} - \frac{5}{128}x_{k-4} - \frac{7}{256}x_{k-5} - \frac{21}{1024}x_{k-6} + \cdots$$

•
$$\Delta^{(-1/2)}x_k = x_k + \frac{1}{2}x_{k-1} + \frac{3}{8}x_{k-2} + \frac{5}{16}x_{k-3} + \frac{35}{128}x_{k-4} + \frac{63}{256}x_{k-5} + \frac{231}{1024}x_{k-6} + \frac{35}{128}x_{k-6} + \frac{35}{$$

It is natural to show that the operators Δ^{α} , $\Delta^{(\alpha)}$, $\Delta^{-\alpha}$ and $\Delta^{(-\alpha)}$ can be expressed as triangles as follows:

$$\Delta^{\alpha} = \begin{pmatrix} 1 & -\alpha & \frac{\alpha(\alpha-1)}{2!} & -\frac{\alpha(\alpha-1)(\alpha-2)}{3!} & \dots \\ 0 & 1 & -\alpha & \frac{\alpha(\alpha-1)}{2!} & \dots \\ 0 & 0 & 1 & -\alpha & \dots \\ 0 & 0 & 0 & 1 & \dots \\ \vdots & \vdots & \vdots & \ddots \end{pmatrix},$$

$$\Delta^{(\alpha)} = \begin{pmatrix} 1 & 0 & 0 & 0 & \dots \\ -\alpha & 1 & 0 & 0 & \dots \\ -\alpha & 1 & 0 & 0 & \dots \\ \frac{\alpha(\alpha-1)}{2!} & -\alpha & 1 & 0 & \dots \\ -\frac{\alpha(\alpha-1)(\alpha-2)}{3!} & \frac{\alpha(\alpha-1)}{2!} & -\alpha & 1 & \dots \\ \vdots & \vdots & \vdots & \vdots & \ddots \end{pmatrix},$$

$$\Delta^{-\alpha} = \begin{pmatrix} 1 & \alpha & \frac{\alpha(\alpha+1)}{2!} & \frac{\alpha(\alpha+1)(\alpha+2)}{3!} & \dots \\ 0 & 1 & \alpha & \frac{\alpha(\alpha+1)}{2!} & \dots \\ 0 & 0 & 1 & \alpha & \dots \\ 0 & 0 & 0 & 1 & \dots \\ \vdots & \vdots & \vdots & \vdots & \ddots \end{pmatrix},$$

$$\Delta^{(-\alpha)} = \begin{pmatrix} 1 & 0 & 0 & 0 & \dots \\ \alpha & 1 & 0 & 0 & \dots \\ \frac{\alpha(\alpha+1)}{2!} & \alpha & 1 & 0 & \dots \\ \frac{\alpha(\alpha+1)(\alpha+2)}{3!} & \frac{\alpha(\alpha+1)}{2!} & \alpha & 1 & \dots \\ \vdots & \vdots & \vdots & \vdots & \ddots \end{pmatrix},$$

$$\vdots & \vdots & \vdots & \vdots & \ddots \end{pmatrix},$$

In our observations, the following special cases which are included in the generalizations of the operators Δ^{α} and $\Delta^{(\alpha)}$:

- (i) If $\alpha = 1$, then the operator Δ^{α} reduces to Δ and $(\Delta x)_k = x_k x_{k+1}$, defined by Kızmaz [1].
- (ii) If $\alpha = m \in$, then the operator Δ^{α} reduces to Δ^{m} and $(\Delta^{m}x)_{k} = \sum_{i=0}^{m} (-1)^{m}$ $\binom{m}{i}x_{k+i}$, defined by Et and Çolak [2].
- (iii) If $\alpha = 1$, then the operator $\Delta^{(\alpha)}$ reduces to $\Delta^{(1)}$ and $(\Delta^{(1)}x)_k = x_k x_{k-1}$, defined by Malkowsky an Parashar [3].
- (iv) If $\alpha = m \in$, then the operator $\Delta^{(\alpha)}$ reduces to $\Delta^{(m)}$ and $(\Delta^{(m)}x)_k = \sum_{i=0}^{m} (-1)^m \binom{m}{i} x_{k-i}$, studied by Malkowsky et al. [4] and Et [5].

Recently, different classes of difference sequences have been introduced and their different properties including topological structures, duals, and matrix transformations have been studied by Tripathy [8], Et and Basarir [9], Dutta and Baliarsingh [10,12], Mursaleen [11], Tripathy et al. [13,15], Asma and Çolak [14] and many others (see [16]-[23]). In this article, we unify most of the difference operators studied by earlier authors and extend their results in a more general and comprehensive way.

2. Main results

In this section, we state some interesting results concerning the linearity property of the difference operators Δ^{α} , $\Delta^{(\alpha)}$, $\Delta^{-\alpha}$ and $\Delta^{(-\alpha)}$. Also, we discuss certain relations among these operators.

Theorem 2.1. The operators $X: w \to w$ for $X \in \{\Delta^{\alpha}, \Delta^{(\alpha)}, \Delta^{-\alpha}, \Delta^{(-\alpha)}\}$ are linear over \mathbb{C} .

Proof: Proof is trivial, hence omitted.

Theorem 2.2. If α and β are two real numbers, then

(i)
$$\Delta^{\alpha} \circ \Delta^{\beta} \equiv \Delta^{\beta} \circ \Delta^{\alpha} \equiv \Delta^{\alpha+\beta}$$
.

(ii)
$$\Delta^{(\alpha)} \circ \Delta^{(\beta)} \equiv \Delta^{(\beta)} \circ \Delta^{(\alpha)} \equiv \Delta^{(\alpha+\beta)}$$
.

Proof: Proof follows from Theorem 2.1, so we omit the details.

Theorem 2.3. If α is a real number, then

(i)
$$\Delta^{\alpha} \circ \Delta^{-\alpha} \equiv \Delta^{-\alpha} \circ \Delta^{\alpha} \equiv Id$$
.

(ii)
$$\Delta^{(\alpha)} \circ \Delta^{(-\alpha)} \equiv \Delta^{(-\alpha)} \circ \Delta^{(\alpha)} \equiv Id$$
,

where Id is the identity operator in w.

Proof: (i) The proof of this theorem is divided into two parts. First we prove the theorem for any positive integer α which can be obtained by using inductive principle. Suppose $x \in w$ and for $\alpha = 1$, we have

$$(\Delta \circ \Delta^{-1}x)_k = (\Delta(\Delta^{-1}x))_k$$

$$= \Delta(x_k + x_{k+1} + x_{k+2} + \dots)$$

$$= x_k - x_{k+1} + x_{k+1} - x_{k+2} + x_{k+2} - x_{k+3} + x_{k+3} - x_{k+4} + \dots$$

$$= x_k.$$

This shows that $\Delta \circ \Delta^{-1} \equiv Id$ in w. By principle of induction one can establish $\Delta^r \circ \Delta^{-r} \equiv Id$ in w. Similarly, for a fraction α , we can show that $\Delta^\alpha \circ \Delta^{-\alpha} \equiv Id$ in w.

(ii) In view of the proof of (i), that of (ii) is similar, so we omit it. □

Theorem 2.4. For a positive integer α and $x \in w$,

(i)
$$(\Delta^{\alpha}x)_k = (-1)^{\alpha}(\Delta^{(\alpha)}x)_{k+\alpha}$$
.

(ii)
$$(\Delta^{(\alpha)}x)_k = (-1)^{\alpha}(\Delta^{\alpha}x)_{k-\alpha}$$

Proof: (i) We prove the theorem by induction principle. For $\alpha = 1$ and $x \in w$, we have

$$(\Delta x)_k = x_k - x_{k+1} = (-1)(x_{k+1} - x_k) = (\Delta^{(1)}x)_{k+1}.$$

This completes the Basis step. Let us assume that the theorem is true for a natural number r, i.e. $(\Delta^r x)_k = (-1)^r (\Delta^{(r)} x)_{k+r}$. Now, we take

$$(\Delta^{r+1}x)_k = (\Delta(\Delta^r x))_k$$

$$= \Delta(\Delta^r x)_k$$

$$= \Delta((-1)^r (\Delta^{(r)} x)_{k+r}), \text{ (by the assumption).}$$

$$= (-1)^r (\Delta^{(r)} x)_{k+r} - (-1)^r (\Delta^{(r)} x)_{k+r+1},$$

$$= (-1)^{r+1} [(\Delta^{(r)} x)_{k+r+1} - \Delta^{(r)} x)_{k+r}] = (-1)^{r+1} (\Delta^{(r+1)} x)_{k+r+1},$$
(by Theorem 2.2).

This completes the proof.

(ii) The proof is similar to that of (i).

Theorem 2.5. For any real α and $x \in w$, we have

$$((\Delta^{\alpha} + \Delta^{-\alpha})x)_k = 2x_k + \sum_{i=1}^{\infty} \frac{(\alpha^+)_{i-1} + (-1)^i (\alpha^-)_{i-1}}{i} x_{k+i},$$

where $(\alpha^+)_{i-1} = \alpha(\alpha+1)(\alpha+2)...(\alpha+i-1)$ and $(\alpha^-)_{i-1} = \alpha(\alpha-1)(\alpha-2)...(\alpha-i+1)$.

Proof: The proof is straightforward from the definition, so we omit it. \Box

Let $x=(x_k)$ and $y=(y_k)$ be two sequences in w. We define the product of x and y as $xy=(x_ky_k)$. Now, the first forward and backward differences of xy are given by $\Delta(xy)=(x_ky_k-x_{k+1}y_{k+1})$ and $\Delta^{(1)}(xy)=(x_ky_k-x_{k-1}y_{k-1})$, respectively. The basic objective of this part is to find the α -th difference of product sequence xy where α is a positive integer. So, we state the following theorems.

Theorem 2.6. (Leibnitz Theorem). Let $\alpha = n$ be a positive integer and $x, y \in w$, then

$$((\Delta^n)xy)_k = x_k \Delta^n y_k + n\Delta x_k \Delta^{n-1} y_{k+1} + \frac{n(n-1)}{2!} \Delta^2 x_k \Delta^{n-2} y_{k+2} + \dots + \Delta^n x_k y_{k+n},$$

Proof: This proceeds by induction on natural numbers n, the result being trivial for n = 0 and reducing for n = 1 to the well-known rule for differentiating a product (once). Suppose n = 1 and $x, y \in w$, we obtain that

$$x_k \Delta y_k + \Delta x_k y_{k+1} = x_k (y_k - y_{k+1}) + (x_k - x_{k+1}) y_{k+1} = x_k y_k - x_{k+1} y_{k+1} = (\Delta(xy))_k.$$

Let us assume that the theorem holds for a positive integer r which can be stated as

$$((\Delta^r)xy)_k = \binom{r}{0}x_k\Delta^r y_k + \binom{r}{1}\Delta x_k\Delta^{r-1}y_{k+1} + \binom{r}{2}\Delta^2 x_k\Delta^{r-2}y_{k+2} + \dots + \binom{r}{r}\Delta^r x_k y_{k+r},$$

Now,

$$((\Delta^{r+1})xy)_{k} = \binom{r}{0} \Delta(x_{k} \Delta^{r} y_{k}) + \binom{r}{1} \Delta(\Delta x_{k} \Delta^{r-1} y_{k+1}) + \binom{r}{2} \Delta(\Delta^{2} x_{k} \Delta^{r-2} y_{k+2})$$

$$+ \dots + \binom{r}{r} \Delta(\Delta^{r} x_{k} y_{k+r})$$

$$= \binom{r}{0} x_{k} \Delta^{r+1} y_{k} + \left[\binom{r}{0} + \binom{r}{1}\right] \Delta x_{k} \Delta^{r} y_{k+1}$$

$$+ \left[\binom{r}{1} + \binom{r}{2}\right] \Delta^{2} x_{k} \Delta^{r-1} y_{k+2} + \dots$$

$$+ \left[\binom{r}{r-1} + \binom{r}{r}\right] \Delta^{r} x_{k} \Delta y_{k+r} + \binom{r}{r} \Delta^{r+1} x_{k} y_{k+r+1}$$

$$= \binom{r+1}{0} x_{k} \Delta^{r+1} y_{k} + \binom{r+1}{1} \Delta x_{k} \Delta^{r} y_{k+1}$$

$$+ \binom{r+1}{2} \Delta^{2} x_{k} \Delta^{r-1} y_{k+2} + \dots$$

$$+ \binom{r+1}{r} \Delta^{r} x_{k} \Delta y_{k+r} + \binom{r+1}{r+1} \Delta^{r+1} x_{k} y_{k+r+1}$$

This leads to the completion of the proof.

3. Application to the numerical analysis

In this section, we discuss some numerical applications of the difference operators Δ^{α} , $\Delta^{(\alpha)}$, $\Delta^{-\alpha}$ and $\Delta^{(-\alpha)}$. In fact, these calculations are often used in finding interpolating polynomial, numerical differentiation and integration of a function where we write $f = (f_k)$ as a sequence of functional values of f(x) at x_1, x_2, x_3, \ldots . The well known Newton's forward and backward interpolation formula for f(x) can be explained with the help of these operators. Now, we consider some particular cases.

Corollary 3.1. (i) If x = (1, 1, 1, ...), then $(\Delta^{\alpha} x)_k = (\Delta^{(\alpha)} x)_k = 0$.

(ii) If
$$x = (1, 0, 1, 0, ...)$$
, then $(\Delta^{\alpha} x)_k = (\Delta^{(\alpha)} x)_k = (-1)^k 2^{\alpha - 1}$.

(iii) If
$$x=(\frac{1}{2^k})$$
, then $(\Delta^{\alpha}x)_k=(\Delta^{(\alpha)}x)_k=\frac{1}{2^{\alpha+k}}$. In particular, $(\Delta^{-1}x)_k=\frac{1}{2^{k-1}}$.

(iv) If
$$x = (a^k)$$
 for $|a| < 1$, then $(\Delta^{\alpha} x)_k = (\Delta^{(\alpha)} x)_k = a^k (1-a)^{\alpha}$ and $(\Delta^{-\alpha} x)_k = (\Delta^{(-\alpha)} x)_k = \frac{a^k}{(1-a)^{\alpha}}$.

Theorem 3.2. (Newton's forward difference formula). Let $f = (f_1, f_2, f_3, ...)$ be the sequence of the functional values of f(x) at $x = (x_1, x_2, x_3, ...)$ (equally spaced with common difference h > 0), then the interpolating polynomial p(x) at a point $z = x_1 + th$ can be expressed as

$$p(z) = f_1 + t(\Delta^{(1)}f)_2 + t(t-1)\frac{(\Delta^{(2)}f)_3}{2!} + t(t-1)(t-2)\frac{(\Delta^{(3)}f)_4}{3!} + \dots,$$
where $t = \frac{z - x_1}{h}$.

Theorem 3.3. (Newton's backward difference formula). Let $f = (f_1, f_2, f_3, \ldots, f_n, \ldots)$ be the sequence of the functional values of f(x) at $x = (x_1, x_2, x_3, \ldots, x_n, \ldots)$ (equally spaced with common difference h > 0), then the interpolating polynomial p(x) at a point $z = x_n + ht$, $(n \in)$ can be expressed as

$$p(z) = f_n + t(\Delta^{(1)}f)_n + t(t+1)\frac{(\Delta^{(2)}f)_n}{2!} + t(t+1)(t+2)\frac{(\Delta^{(3)}f)_n}{3!} + \dots,$$
where $t = \frac{z - x_n}{h}$.

Example 3.4. Let f = (10, 28, 62, 118, 202, 320, ...) be the given sequence of the functional values of f(x) at x = (1, 2, 3, 4, 5, 6, ...), then clearly, $h = 1, t = (z - 1), (\Delta^{(1)}f)_2 = 18, (\Delta^{(2)}f)_3 = 16, (\Delta^{(3)}f)_4 = 6$ and $(\Delta^{(4)}f)_5 = (\Delta^{(5)}f)_6 = 0...$ By Theorem 3.2, the interpolating polynomial of f(x) is given by

$$p(z) = 10 + (z-1)18 + (z-1)(z-2)8 + (z-1)(z-2)(z-3) = z^3 + 2z^2 + 5z + 2.$$

Again for backward difference formula, let us take n=6 and also $h=1, t=z-6, (\Delta^{(1)}f)_6=118, (\Delta^{(2)}f)_6=34, (\Delta^{(3)}f)_6=6$ and $(\Delta^{(4)}f)_6=(\Delta^{(5)}f)_6=0...$ By Theorem 3.3, the interpolating polynomial of f(x) is given by

$$p(z) = 320 + (z-6)118 + (z-6)(z-5)17 + (z-6)(z-5)(z-4) = z^3 + 2z^2 + 5z + 2.$$

Conclusion: The main objective of the present investigation is to obtain certain results involving the generalized fractional and integral difference operators which have several applications in the field of analysis and applied sciences.

Acknowledgments

We express our sincere thanks to the referees for their valuable suggestions and comments for this article.

References

- 1. H. Kızmaz, On Certain Sequence spaces, Canad. Math. Bull., 24 (2) (1981) 169-176.
- 2. M. Et, On some difference sequence spaces, Turkish J. Math., 17 (1993) 18-24.
- M. Et, R. Çolak, On some generalized difference sequence spaces, Soochow J. Math., 21 (4) (1995) 377-386.
- E. Malkowsky, S. D. Parashar, Matrix transformation in space of bounded and convergent defference sequence of order m, Analysis, 17 (1997) 87-97.
- M. Et, On some topological properties of generalized difference sequence spaces, Int. J. Math. Math. Sci., 24(11) (2000) 785-791.
- E. Malkowsky, M. Mursaleen, S. Suantai, The dual spaces of sets of difference sequences of order m and martix transformations, Acta Math. Sin. (English Series), 23(3) (2007) 521-532.
- P. Baliarsingh, Some new difference sequence spaces of fractional order and their dual spaces, Appl. Math. Comput., 219(18) (2013) 9737-9742.
- 8. B. C. Tripathy, On generalized difference paranormed statistically convergent sequences; Indian J. Pure Appl. Math. 35(5) (2004) 655-663.
- 9. M. Et, M. Basarir, On some new generalized difference sequence spaces, Period. Math. Hungar., 35(3) (1997) 169-175.
- 10. S. Dutta and P. Baliarsingh, On the fine spectra of the generalized rth difference operator Δ_{ν}^{r} on the sequence space ℓ_{1} , Appl. Math. Comput. 219 (2012) 1776-1784.
- M. Mursaleen, Generalized spaces of difference sequences, J. math. Anal. Appl., 203 (3) (1996) 738-745
- 12. S. Dutta and P. Baliarsingh, On Certain New Difference Sequence Spaces Generated by Infinite Matrices, Thai J. Math., 11(1) (2013) 75-86.
- 13. B. C. Tripathy, Y. Altin and M. Et, Generalized difference sequence spaces on seminormed spaces defined by Orlicz functions, Math. Slovaca, 58(3) (2008) 315-324.
- C. Asma, R. Çolak, On the Köthe-Toeplitz duals of some generalized sets of difference sequences, Demonstratio Math. 33 (2000) 797-803.
- B. C. Tripathy, B. Choudhary and B. Sarma, On some new type generalized difference sequence spaces, Kyungpook Math. J. 48(4) (2008) 613-622.
- 16. S. Dutta, P. Baliarsingh, On the spectrum of 2-nd order generalized difference operator Δ^2 over the sequence space c_0 , Bol. Soc. Paran. Mat., 31(2) 2013 235-244.
- 17. S. Dutta, P. Baliarsingh, A note on paranormed difference sequence spaces of fractional order and their matrix transformations, J. Egyptian Math. Soc. (in press).
- 18. P. Baliarsingh, A set of new paranormed difference sequence spaces and their matrix transformations, Asian European J. Math. 06 (2013) 10.1142/S179355711350040X 12 pages.
- 19. B. C. Tripathy and P. Chandra, On some generalized difference paranormed sequence spaces associated with multiplier sequences defined by modulus function, Anal. Theory Appl. 27(1) (2011) 21-27.
- P. Baliarsingh, S. Dutta, On certain summable difference sequence spaces generated by infinite matrices, J. Orissa Math. Soc. 30(2) (2011) 67-80.
- 21. B. C. Tripathy and A. Baruah, M. Et and M. Gungor, On almost statistical convergence of new type of generalized difference sequence of fuzzy numbers, Iranian J. Sci. and Tech. (A), Science, 36(2) (2012) 147-155.
- 22. S. Dutta, P. Baliarsingh, Some spectral aspects of the operator Δ_{ν}^{r} over the sequence spaces ℓ_{p} and bv_{p} , (1 , Chinese J. Math. (2013), <math>10.1155/2013/286748, 10 pages.

23. M. Basarir, On the generalized Riesz $B-{\rm difference}$ sequence spaces, Filomat, 24(4)(2010) 35-52.

 $P.\ Baliar singh$

Department of Mathematics, School of Applied Sciences, KIIT University, Bhubaneswar-751024, India. E-mail address: pb.math10@gmail.com

and

 $S.\ Dutta$

Department of Mathematics, Utkal University, Vanivihar, Bhubaneswar-751004, India.

 $E ext{-}mail\ address:$ saliladutta516@gmail.com